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Run 6177 mpswise, accO: All
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Mean: 59530 4/~ 0.0080

Sid Dev: 40062 - 00063
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Run 6177, mpswise, acc0: Beam ON, Laser ON
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Run 6177 mpswise, acc(: Beam OFF

Enilrie=: 51968
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Run 6177, mpswise, acc0: Beam ON, Laser OFF
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Sid Dev: 04632 - 0.0070
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Run 6177 mpswise, BCM: All Run 6177 mpswise, BCM: Beam OFF
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Run 6177 mpswise, lasPow: All
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Run 6177, mpswise, lasPow: Beam ON, Laser ON
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Enitries:; 103504

Mean: Z165.5682 - 01967
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Run 6177 mpswise, lasPow: Beam OFF
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Run 6177, mpswise, lasPow: Beam ON, Laser OFF
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Eniries: 102529

Mear: 5 4676 +/- 00240

Sid Dewy: 76898 +- 0.0170
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Run 6177 mpswise, bpmAx: All Run 6177 mpswise, bpmAx: Beam OFF
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Run 6177 mpswise, bpmAy: All
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Run 6177, mpswise, bpmAy: Beam ON, Laser ON
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Run 6177 mpswise, bpmAy: Beam OFF

Enilrie=: 51968

Mean: 000291 4+~ Q.ODS

Sid Drev: 0017134 4 00003

Run 6177, mpswise, bpmAy: Beam ON, Laser OFF
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Mean: 00390 +/- (.0D00

Sid Dev: 0008 - 0.0000
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Run 6177 mpswise, bpmBx: All

- Enilries: 207432

Mearn: -0.2570 & 00023

Sid Dev: 1.2230 - 0.0018
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Run 6177, mpswise, bpmBx: Beam ON, Laser ON
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Run 6177 mpswise, bpmBx: Beam OFF
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Run 6177 mpswise, bpmBy: All Run 6177 mpswise, bpmBy: Beam OFF
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Run 6177 mpswise, beam ON, laser ON
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Run 6177 mpswise, beam OFF, laser ON

400

450
mpsCoda

18

16

14

12

10

_I__III|IIITIII|III|III|III|III|III|III|III

qlll“ll"lIIII|II‘I|II!Illqlllll}{'lﬂa

50 100 150 200 250 300 350

400

450
mpsCoda

Accl/MNACCD

Accl/NACeD

18

16

14

12

10

18

16

14

12

10

Run 6177 mpswise, beam ON, laser OFF
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Run 6177 mpswise, beam ON, laser ON Run 6177 mpswise, beam ON, laser OFF
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Run 6177 mpswise, beam OFF, laser ON Run 6177 mpswise, beam OFF, laser OFF
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Cav Power

Cav Power

Run 6177 mpswise, beam ON, laser ON Run 6177 mpswise, beam ON, laser OFF
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BPM Ax

Run 6177 mpswise, beam ON, laser ON Run 6177 mpswise, beam ON, laser OFF
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Run 6177 mpswise, beam ON, laser ON Run 6177 mpswise, beam ON, laser OFF
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Run 6177 mpswise, beam OFF, laser ON Run 6177 mpswise, beam OFF, laser OFF
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Run 6177 mpswise, beam ON, laser ON
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Run 6177 mpswise, beam OFF, laser ON
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Run 6177 mpswise, beam ON, laser OFF
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Run 6177 mpswise, beam OFF, laser OFF
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Run 6177 mpswise, beam ON, laser ON
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Run 6177 mpswise, beam OFF, laser ON
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Run 6177 mpswise, beam ON, laser OFF
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Run 6177 mpswise, beam OFF, laser OFF
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